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3. Explain the following :
(@) DOS
(b) Windows XP

4. Describe the following :
(a) Interpreter
(b) Low Level Languages
(c) Linker

5. Explain the following :
(a) TCP/IP reference model
(b) Backbone Network

6. Define 'C' Language and explain the following :
(a) Operators

(b) Decision making and branching

7. Explain the following :
(a) Array of structure
(b) Structure with structure

8. Define file. Explain different operators on files.
9. Explain the following :
(@) Chain of pointers

(b) Printers to functions
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